

#### Pay Estimate Created Date: November 18, 2024

Progress Estimate N 7	lumber	Contract ID Prime Contracto	240419-G04 r Louis-Company, I		ay Period Start ay Period End		,	Original Contract Amount Net Change Order Amount Current Contract Amount	\$934,318.86 (\$30,796.87) \$903,521.99	
Approval Date									By User	
November 18, 2024			Generated and <i>i</i>	Approve	d (and should b	e considere	d Draft) at	the Project Office Level by	MARKHS	
November 18, 2024	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by howelja									
November 19, 2024	Reviewed and Approved at the Central Office Controllers Office Level b									
Original Completio	n Date	Current Co	mpletion Date	Ac	tual Completio	n Date	%	of Current Contract Amount	nt Complete	
December 1, 20	24	Decemb	er 1, 2024					85.38%		
	Contract	Informational Dat	tes		Mi	lestones				
Date Description	Original	Completion Date	Current Completio	on Date	No Milestone	es Exist for C	Contract			
Acceptance Date										
Awarded Date	varded Date May 1, 2024 May 1, 2024									
Letting Date April 19, 2024 April 19, 202		April 19, 2024								
Notice to Proceed Date	June 3, 2	024	June 3, 2024							
Open to Traffic Date										
Work Began Date										

Contract Total Pay For Estimate No. 7				
	This Estimate	Previous	To Date	
240419-G04				
Total Posted Items Pay	\$167,980.77	\$603,491.29	\$771,472.06	
Gross Item Adjustments	(\$22,825.35)	(\$82,548.03)	(\$105,373.38)	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
		\$520,943.26	\$666,098.68	
Contract Total Payable This Estimate:	\$145,155.42			

## Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J7S3509	0020	2071000	LINEAR GRADING CLASS 1	STA	\$1,758.260	0.8	\$1,406.61
	0040	2129900	MISC.MODIFIED LINEAR GRADING CLASS 2	100F	\$842.500	12	\$10,110.00
	0060	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$12.660	1,233	\$15,609.78
	0080	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$147.090	423.4	\$62,277.91
	0090	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	TONS	\$132.470	403.3	\$53,425.15
	0100	4071005	TACK COAT	GAL	\$7.090	195	\$1,382.55
	0280	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$13.010	1,200	\$15,612.00
	0290	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$5.100	534	\$2,723.40
	0380	8061019	SILT FENCE	LF	\$5.270	1,031	\$5,433.37
Project J7	S3509 - Tot	tal					\$167,980.77
Overall - T	otal						\$167,980.77

# Contract Adjustments This Estimate

# No Contract Adjustments Exist on Contract

Line Item /	ine Item Adjustments This Estimate												
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount					
J7S3509	0060	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,233	(\$0.06)	(\$79.90)					



#### Pay Estimate Created Date: November 18, 2024

Progr	ess Est	imate Number 7	Contract ID Prime Cont		-G04 ompany, LLC	Pay Period StartNovember 2, 2024Pay Period EndNovember 15, 2024	Original Contract Net Change Order Current Contract	r Amount (	\$934,318.86 \$30,796.87) \$903,521.99
Project Number	Line No.	Item Desc	ription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J7S3509	0060	TYPE 5 AGGR BASE (	EGATE FOR (4 IN. THICK)	Material			-1,233	\$12.66	(\$15,609.78)
	0080	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)		Overrun			-47.5	\$147.09	(\$6,986.78)
	0100		TACK COAT	Overrun			-21	\$7.09	(\$148.89)
	0470		MISC.	MaterialCredit			6	\$879.83	\$5,278.98
	0470		MISC.	Material			-6	\$879.83	(\$5,278.98)
	0520	CURB BLOCKOUT		MaterialCredit			435	\$177.63	\$77,269.05
	0520	CURB	BLOCKOUT	Material			-435	\$177.63	(\$77,269.05)
Total									(\$22,825.35)



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

						Contract Project Informati	on						
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work							
J7S3509	J7S3509	Bridge rehabilitation	D	POLK	over Piper Creek, 2 miles r	north of Bolivar							
Totals by .	Job Numb	ers											
J7S3509		ed Item Pay s Item Adjustm		s Item Pay	This Estimate \$167,980.77 (\$22,825.35) \$145,155.42	Previous \$603,491.29 (\$82,548.03) <b>\$520,943.26</b>	To Date \$771,472.06 (\$105,373.38) <b>\$666,098.68</b>						
	Liqui	ntive Icentive Idated Damage r Contract Adju		ĩ	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00						



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

## Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J7S3509, Item 2169903, Project Item Line Number 0470, Material Set 2169003, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	The contractor has acknowledged that the concrete sealer used under this line item was just submitted for approval to MoDOT on 11-15-24. This process will take a few days and full payment will be made next pay estimate as long as all accompanying documentation is submitted and correct.	MARKHS	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J7S3509, Item 3040504, Project Item Line Number 0060, Material Set 304050496, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	This exception is due to lack of reporting for base rock compaction at bridge approaches. Testing was completed while MoDOT looked on but has not yet been reported by the Contractor's Quality Control.	MARKHS	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J7S3509, Item 3040504, Project Item Line Number 0060, Material Set 304050496, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	This exception presents the lack of QC reporting for base rock. Payment will be made upon the reporting of acceptable material.	MARKHS	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J7S3509, Item 7034600, Project Item Line Number 0520, Material Set 703460096, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	The contractor has acknowledged that the concrete sealer used under this line item was just submitted for approval to MoDOT on 11-15-24. This process will take a few days and full payment will be made next pay estimate as long as all accompanying documentation is submitted and correct.	MARKHS	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240419-G04, Contract Project J7S3509, Project Item Line Number 0080, Contract Line Item Number 0080, Item 4011209, Minor Item.	This exception represents material recently installed over plan quantity. This material will be included on the next available Change Order and paid in full upon approval of the Change order.	MARKHS	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240419-G04, Contract Project J7S3509, Project Item Line Number 0100, Contract Line Item Number 0100, Item 4071005, Minor Item.	This exception represents material recently installed over plan quantity. This material will be included on the next available Change Order and paid in full upon approval of the Change order.	MARKHS	Acknowledged



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Q	uantities	and Valu			eport Generated date and can differ from the posted amo	ount at the	e time the I	Estimate wa	s Gener	ated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240419-G04	J7S3509	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$4,688.22	\$4,688.22
		0001	0020	2071000	LINEAR GRADING CLASS 1	2.30	0.00	2.30	STA	0.80	\$1,758.26	\$1,406.61
		0001	0030	2072000	LINEAR GRADING CLASS 2	1.50	0.00	1.50	STA	0.00	\$1,347.99	\$0.00
		0001	0040	2129900	MISC.MODIFIED LINEAR GRADING CLASS 2	12.00	0.00	12.00	100F	12.00	\$842.50	\$10,110.00
		0001	0050	2153000	SHAPING SLOPES, CLASS III	7.00	0.00	7.00	100F	0.00	\$1,172.06	\$0.00
		0001	0060	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	1,597.00	0.00	1,597.00	SQYD	1,233.00	\$12.66	\$15,609.78
		0001	0070	3105002	GRAVEL (A) OR CRUSHED STONE (B)	8.00	0.00	8.00	TONS	0.00	\$263.71	\$0.00
		0001	0080	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	375.90	0.00	375.90	TONS	423.40	\$147.09	\$62,277.91
		0001	0090	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	418.80	0.00	418.80	TONS	403.30	\$132.47	\$53,425.15
		0001	0100	4071005	TACK COAT	174.00	0.00	174.00	GAL	195.00	\$7.09	\$1,382.55
		0001	0110	6044011	PIPE COLLAR, TYPE A	1.00	0.00	1.00	EA	0.00	\$3,140.10	\$0.00
		0001	0120	6122012	IMPACT ATTENUATOR 55 MPH (SAND BARREL ARRAY)	2.00	0.00	2.00	EA	2.00	\$2,812.94	\$5,625.88
		0001	0130	6122020	REPLACEMENT SAND BARREL	2.00	0.00	2.00	EA	0.00	\$234.42	\$0.00
		0001	0140	6122030	IMPACT ATTENUATOR (RELOCATION)	2.00	0.00	2.00	EA	2.00	\$1,172.06	\$2,344.12
		0001	0150	6161005	CONSTRUCTION SIGNS	600.00	0.00	600.00	SQFT	600.00	\$8.20	\$4,920.00
		0001	0160	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$87.91	\$175.82
		0001	0170	6161025	CHANNELIZER (TRIM LINE)	50.00	0.00	50.00	EA	50.00	\$17.58	\$879.00
		0001	0180	6161030	TYPE III MOVEABLE BARRICADE	9.00	0.00	9.00	EA	6.00	\$205.11	\$1,230.66
		0001	0190	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$4,981.24	\$9,962.48
		0001	0200	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	1.00	0.00	1.00	EA	1.00	\$4,981.23	\$4,981.23
		0001	0210	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	513.00	0.00	513.00	LF	513.00	\$45.71	\$23,449.23
		0001	0220	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	513.00	0.00	513.00	LF	513.00	\$21.10	\$10,824.30
		0001	0230	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.74	\$125,840.33	\$93,625.21
		0001	0240	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	24.00	0.00	24.00	LF	24.00	\$58.60	\$1,406.40
		0001	0250	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	3,670.00	0.00	3,670.00	LF	0.00	\$1.17	\$0.00
		0001	0260	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,507.00	0.00	2,507.00	LF	0.00	\$1.17	\$0.00
		0001	0270	6207001	PAVEMENT MARKING REMOVAL	2,805.00	0.00	2,805.00	LF	808.00	\$2.34	\$1,890.72
		0001	0280	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	1,200.00	0.00	1,200.00	SQYD	1,200.00	\$13.01	\$15,612.00
		0001	0290	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	534.00	0.00	534.00	SQYD	534.00	\$5.10	\$2,723.40
		0001	0300	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	9.90	0.00	9.90	STA	0.00	\$156.27	\$0.00
		0001	0310	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	6.00	0.00	6.00	STA	0.00	\$257.85	\$0.00
		0001	0320	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$7,032.34	\$7,032.34
		0001	0330	8025006	MULCHING	0.40	0.00	0.40	ACRE	0.00	\$4,547.58	\$0.00
		0001	0340	8051000A	SEEDING - COOL SEASON GRASSES	0.30	0.00	0.30	ACRE	0.00	\$15,295.30	\$0.00
		0001	0350	8061005	ROCK DITCH CHECK	80.00	0.00	80.00	LF	0.00	\$35.16	\$0.00
		0001	0360	8061016	SEDIMENT REMOVAL	15.00	0.00	15.00	CUYD	0.00	\$119.74	\$0.00
		0001	0370	8061017	TEMPORARY SEEDING	0.10	0.00	0.10	ACRE	0.00	\$35,161.70	\$0.00
		0001	0380	8061019	SILT FENCE	1,031.00	0.00	1,031.00	LF	1,031.00	\$5.27	\$5,433.37
		0001	0390	8061020	TEMPORARY PIPE	68.00	0.00	68.00	LF	0.00	\$63.76	\$0.00
		0010	0400	6061060	MGS GUARDRAIL	175.00	0.00	175.00	LF	0.00	\$29.89	\$0.00
		0010	0410	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	0.00	\$4,395.21	\$0.00
		0010	0420	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	0.00	\$4,043.60	\$0.00
		0070	0430	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	1.00	0.00	1.00	SQFT	0.00	\$2,930.15	\$0.00
		0070	0440	2161000	SCARIFICATION OF BRIDGE DECK	887.00	0.00	887.00	SQYD	887.00	\$6.99	\$6,200.13



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240419-G04	J7S3509	0070	0450	2161001	TOTAL SURFACE HYDRO DEMOLITION	887.00	-887.00	0.00	SQYD	0.00	\$57.88	\$0.00
		0070	0460	2164500	REMOVAL OF EXISTING EXPANSION JOINT & ADJACENT CONCRETE	40.00	0.00	40.00	LF	40.00	\$298.89	\$11,955.60
		0070	0470	2169903	MISC.REMOVE AND REPLACE CURB AND PARAPET	6.00	0.00	6.00	LF	6.00	\$879.83	\$5,278.98
		0070	0480	5050004	SUPPLEMENTARY WEARING SURFACE MATERIAL	5.00	-5.00	0.00	CY	0.00	\$2,690.09	\$0.00
		0070	0490	5052000	LATEX MODIFIED CONCRETE WEARING SURFACE	901.00	-901.00	0.00	SQYD	0.00	\$203.50	\$0.00
		0070	0500	7031004	DIAMOND GRINDING	901.00	0.00	901.00	SQYD	0.00	\$5.25	\$0.00
		0070	0510	7034214	CLASS B-2 CONCRETE	11.20	0.00	11.20	CUYD	11.20	\$3,630.74	\$40,664.29
		0070	0520	7034600	CURB BLOCKOUT	435.00	0.00	435.00	LF	435.00	\$177.63	\$77,269.05
		0070	0530	7040101	SUBSTRUCTURE REPAIR (FORMED)	20.00	16.60	36.60	SQFT	36.60	\$182.76	\$6,689.02
		0070	0540	7040106	FULL DEPTH REPAIR	150.00	-150.00	0.00	SQFT	0.00	\$25.33	\$0.00
		0070	0550	7040110	EPOXY PRESSURE INJECTING	10.00	0.00	10.00	LF	0.00	\$60.22	\$0.00
		0070	0560	7040113	CLEANING AND EPOXY COATING	1,420.00	0.00	1,420.00	SQFT	1,420.00	\$6.80	\$9,656.00
		0070	0570	7049902	MISC.PLUGGING EXISTING CURB OUTLETS	60.00	0.00	60.00	EA	60.00	\$232.21	\$13,932.60
		0070	0580	7101000	REINFORCING STEEL (EPOXY COATED)	4,800.00	0.00	4,800.00	LB	4,800.00	\$1.44	\$6,912.00
		0070	0590	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)	1.00	0.00	1.00	LS	1.00	\$6,963.03	\$6,963.03
		0070	0600	7125102	SURFACE PREPARATION FOR APPLYING EPOXY-MASTIC PRIMER	1.00	0.00	1.00	LS	1.00	\$2,439.33	\$2,439.33
		0070	0610	7125961	GRAY EPOXY-MASTIC PRIMER	1.00	0.00	1.00	LS	1.00	\$2,439.33	\$2,439.33
		0070	0620	7129902	MISC.CORED SLAB DRAINS	32.00	0.00	32.00	EA	32.00	\$685.75	\$21,944.00
		0070	5001	5057000	POLYESTER POLYMER CONCRETE WEARING SURFACE	901.00	SQYD	901.00	\$165.13	\$148,782.13		
		0070	5002	7040104	HALF-SOLE REPAIR	0.00	572.30	572.30	SQFT	572.30	\$65.00	\$37,199.50
		0070	5003	1046002	VALUE ENGINEERING	0.00	32,130.69	32,130.69	EA	32,130.69	\$1.00	\$32,130.69
	Project J	7S3509 - To	otal Value	Posted to I	Date as of Report Generated Date							\$771,472.04
240419-G04 Ov	erall - Total	Value Pos	ted to Da	te as of Rep	ort Generated Date							\$771,472.04



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

## The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	2071000	LINEAR GRADING CLASS 1	11/15/24	11/18/24	0.20	STA	Entrance at 11.128 per plan	11.128				
				11/18/24	0.30	STA	Entrance at 11.237 per plan	11.237				
				11/18/24	0.30	STA	Entrance at 11.250 per plan	11.250				
0040	2129900	MISC. SUBGRADING AND SHOULDERING	11/8/24	11/14/24	12.00	100F	300' of Grading at all four corners of Bridge A26382	11.099		11.252		
0060	3040504	TYPE 5 AGGREGATE FOR BASE	11/7/24	11/18/24	1,233.00	SQYD	Installed per plan excluding temporary entrance at 11.33 right.	11.099		11.233		
0080	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	11/7/24	11/18/24	403.22	TONS	Installed per plan excluding temporary entrance at 11.33 right.	11.099		11.252		
			11/8/24	11/14/24	-0.03	TONS	Rounding for final pay					
				11/14/24	20.21	TONS	Entrance at 11.237 right	11.33 Right				
0090	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BAS	11/7/24	11/18/24	0.02	TONS	Rounding for final pay					
				11/18/24	403.28	TONS	Installed Bit Base per plan areas and depths	11.099		11.233		
0100	4071005	TACK COAT	11/7/24	11/18/24	195.00	GAL	Bridge A26382 paving tack for mainline asphalt	11.099		11.252		
0280	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	11/8/24	11/14/24	1,200.00	SQYD	2" Mill/Fill each end of Bridge A26382 at 24' wide	11.099		11.252		
0290	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	11/8/24	11/14/24	534.00	SQYD	Bridge A26382 each end installed per plan sheet no 3 (sheet 2 of 4).	11.142		11.209		
0380	8061019	SILT FENCE	11/8/24	11/14/24	1,031.00	LF	Bridge A26382 installed along slopes at all four corners	11.099		11.242		

The information below this line are details for Construction Signs (if applicable). No Data Available



# Line Item Adjustments by Estimate

Nov 20, 2024

Contract ID: 240419-G04

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks									
J7S3509	0060	TYPE 5 AGGREGATE	Material	Туре	7	Nov 18, 2024	SYSTEM	(\$15,609.78)										
		FOR BASE		- Total		2024		(\$15,609.78)										
			Material - Tota					(\$15,609.78)										
			Price FUEL	41	7	Nov 18,	SYSTEM	(\$79.90)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL									
			THOUTOLL		,	2024	OTOTEM	(\$10.00)										
				- Total				(\$79.90)										
			Price FUEL - 1	Fotal				(\$79.90)										
	0060 -							(\$15,689.68)										
	0080	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Overrun	Overrun		Nov 18, 2024	SYSTEM	(\$6,986.78)										
					otal			(\$6,986.78)										
		Overrun - 1		al				(\$6,986.78)										
	0080 -		2	0	-	NI 40	OVOTEN	(\$6,986.78)										
	0100	TACK COAT	Overrun	2024			SYSTEM	(\$148.89)										
			0	Overrun - T	otal			(\$148.89)										
	0400	Total	Overrun - Tota					(\$148.89)										
	0100 -		Material		2	Con C	OVOTEN	(\$148.89)										
	0240	PREF THERMO PVMT MARK, 24 IN WHIT	Material		2	Sep 3, 2024	SYSTEM	(\$1,406.40)										
					3	Sep 16, 2024	SYSTEM	(\$1,406.40)										
				- Total	4	Oct 1, 2024	SYSTEM	(\$1,406.40)										
								(\$4,219.20)										
			Material - Tota	al				(\$4,219.20)										
			MaterialCredit		3	Sep 16, 2024	SYSTEM	\$1,406.40										
														4	Oct 1, 2024	SYSTEM	\$1,406.40	
					5	Oct 16, 2024	SYSTEM	\$1,406.40										
				- Total				\$4,219.20										
			MaterialCredit	t - Total				\$4,219.20										
	0240 -							\$0.00										
	0470	MISC. REMOVALS	Material		2	Sep 3, 2024	SYSTEM	\$1,319.74	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user markhs overridding Payment Estimate Exception 1 on the current Payment Estimate.									
					2	Sep 3, 2024	SYSTEM	(\$1,319.74)										
						3	Sep 16, 2024	SYSTEM	\$2,639.49	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user markhs overridding Payment Estimate Exception 1 on the current Payment Estimate.								
					3	Sep 16, 2024	SYSTEM	(\$2,639.49)										
					4	Oct 1, 2024	SYSTEM	\$2,639.49	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user markhs overridding Payment Estimate Exception 1 on the current Payment Estimate.									
					4	Oct 1, 2024	SYSTEM	(\$2,639.49)										
					5	Oct 16, 2024	SYSTEM	\$2,639.49	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user markhs overridding Payment Estimate Exception 1 on the current Payment Estimate.									
					5	Oct 16, 2024	SYSTEM	(\$2,639.49)										
				6	Nov 4, 2024	SYSTEM	(\$5,278.98)											
				7	Nov 18, 2024	SYSTEM	(\$5,278.98)											
				- Total				(\$10,557.96)										



# Line Item Adjustments by Estimate

# Contract ID: 240419-G04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7S3509	0470	MISC.	Material - Tota	I				(\$10,557.96)	
		REMOVALS	MaterialCredit		7	Nov 18, 2024	SYSTEM	\$5,278.98	
				- Total				\$5,278.98	
			MaterialCredit	- Total				\$5,278.98	
	0470 -	Total						(\$5,278.98)	
	0520	CURB BLOCKOUT	Material		6	Nov 4, 2024	SYSTEM	(\$77,269.05)	
					7	Nov 18, 2024	SYSTEM	(\$77,269.05)	
				- Total				(\$154,538.10)	
			Material - Tota	l				(\$154,538.10)	
			MaterialCredit		7	Nov 18, 2024	SYSTEM	\$77,269.05	
				- Total				\$77,269.05	
			MaterialCredit	- Total				\$77,269.05	
	0520 -	Total						(\$77,269.05)	
	0530	SUBSTRUCTURE REPAIR	Overrun	Overrun	2	Sep 3, 2024	SYSTEM	(\$3,033.82)	
		(FORMED)			4	Oct 1, 2024	SYSTEM	\$3,033.82	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',182.76000 - 182.76000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	0530 -	Total						\$0.00	
J7S3509 -	- Total							(\$105,373.38)	
Overall -	Total							(\$105,373.38)	



There are no contract adjustments to display for this contract.